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Short Answer Type Questions

1. Find the mean deviation about the mean of

the distributon .

Size | 20 | 2 2 W 3 | o4

N Frequency f 6 J‘ 4 5 { 1 K 4



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_13lc6LTRkSHH

° Watch Video Solution

2. Find the mean deviation about the mean of

the distributon .

 Marksobtained | 10 no ] 12 | 4 s
Number of students | > 3 1o 13

° Watch Video Solution

3. Calculate the mean deviation about the

mean of the set of first n natural numbers

when n is odd natural number.



https://dl.doubtnut.com/l/_13lc6LTRkSHH
https://dl.doubtnut.com/l/_7Bspk3CqAE0d
https://dl.doubtnut.com/l/_Pru3wPwBQSw6

View Text Solution

4. Calculate the mean deviation about the

mean of the set of first n natural numbers

when n is even natural number.

° Watch Video Solution

5. Find the standard deviation of first n natural

numbers.



https://dl.doubtnut.com/l/_Pru3wPwBQSw6
https://dl.doubtnut.com/l/_mBjrQqUdDahw
https://dl.doubtnut.com/l/_aczx3XjfHLy1

¥ Watch Video Solution ]

6. The mean and standerd deviation deviation
of some data for the time taken to complete a
test are calculated with the following result s

Number of observation =25means=18.2
s,standard deviation =3.25 s further another
set of 15 obserbvation i, 5...x15 also in

seconds is now available and we have

1% x; =279 and ¥1° 27 = 5524 Calculate

1=1""1

the standard derivation based on all 40

observation .



https://dl.doubtnut.com/l/_aczx3XjfHLy1
https://dl.doubtnut.com/l/_kNN5EniLWfML

I O Watch Video Solution

7. The mean and standard deviation of a set of
njobservation are Tiand s; respectively while
the mean and standard deviation of another
set of n, observations are I, and so
respectively . Show that the standard deviation
of the combined set of (n; + ny) observations

Is given by

Sp — n1(81)2 + nz(sz)2 N nina(T1 — 552)2

ny + Ny (nl _ n2)2

° View Text Solution



https://dl.doubtnut.com/l/_kNN5EniLWfML
https://dl.doubtnut.com/l/_aKj0o7UVXdeD

8. Two sets each of 20 observations have the

same standard derivation 5. The first sethas a

mean 17 and second a mean 22. Then the

standard deviation of the set obtained by

combining the given two sets.

o View Text Solution

9. The frequency distribution

x | A 24

3A

f| 2 1

1

I ° \/iawr Tauvk CaAaliikiAan


https://dl.doubtnut.com/l/_aKj0o7UVXdeD
https://dl.doubtnut.com/l/_4GtGJw67I50B
https://dl.doubtnut.com/l/_2dedlOdrFggP
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10. For the frequency distribution

x | 2 | 3 4 | s 6 |

‘1 7
f o4 | o9 [ e U [ e

° View Text Solution

11. For the frequency distribution

Mais [0 T T T T4 T
Frequency/ x—2 / x t £ (x+1)2\ 2% \\ x+1

° View Text Solution



https://dl.doubtnut.com/l/_2dedlOdrFggP
https://dl.doubtnut.com/l/_9WKUzXyk13OL
https://dl.doubtnut.com/l/_CBFITBTUWkiz
https://dl.doubtnut.com/l/_6z6hZ2cJjJKr

12. The mean life of a sample of 60 bulbs was
650 h and the standard deviation was 8 h, If a
second sample of 80 bulbs has a mean life of
660 h and standard deviation 7 h then find the

over all standard deviation

° View Text Solution

13. If mean and standard deviation of 100
items are 50 and 4 respectively the find the
sum of all the item and the sum of the squares

of item.



https://dl.doubtnut.com/l/_6z6hZ2cJjJKr
https://dl.doubtnut.com/l/_JeXPFuUCkluP

I O View Text Solution I

14. If for distribution of 18 observations

Y (xi—5) =3and Y (z; —5)" =43, find

the mean and standard deviation.

O View Text Solution

15. Find the mean and variance of the

frequency distribution given below

| 1<x<3 | 3<x<5 | 5<x<7 | 7<x<10
f 6 4 | s 1y



https://dl.doubtnut.com/l/_JeXPFuUCkluP
https://dl.doubtnut.com/l/_83dGiaY0o2Sz
https://dl.doubtnut.com/l/_hnQnRq1XLKLj

° View Text Solution I

Long Answer Type Questions

1. Calculate the mean deviation about the

mean for the following freuency distribution

e e
Cassinterval | 04 | 48 gy, T 296 | 1620
S, | . SR - N B S

frequeng | 4 L8 | 8 s | 3

o View Text Solution



https://dl.doubtnut.com/l/_hnQnRq1XLKLj
https://dl.doubtnut.com/l/_0ZLoc4ATV5rl

2. Calulate the mean deviation from the

median of the following data

~ (Cassinterval 0-6 6-12 1 248JF18;2‘}"{“ 2430

He]iuénc} ] 4 5 3 \ 6 2

° View Text Solution

3. Determin the mean and standard deviation

for the following distribution

Tt

. 2 |3
Frequengy| 1 | 6

3 1

[
|4 3\9#10 112013141516
I ——p i S i IR S &

L 6 2

° View Text Solution



https://dl.doubtnut.com/l/_4alh3tabrWQG
https://dl.doubtnut.com/l/_ZlWoFMQKyHRi
https://dl.doubtnut.com/l/_UQlZnBfrBFK7

4. The weights of coffee in 70 jars is shown in

the following table
Weight (in g) Frequency
200-201 | 13
207-202 27
202-203 18
203-204 10
204-205 1
205-276 !

Determin variance and standard deviation of

the above distribution

o View Text Solution



https://dl.doubtnut.com/l/_UQlZnBfrBFK7

5. Determin mean and standard deviation of
first n terms of an AP whose first term is a and

common difference is d.

x; X —a T (x —a)
a ( 0 ! 0 R
a+d \‘ d ]w &?
a+2d ; 2d \ 4d?
..... J i 9d*
| ’ (
..... I
| ‘) (n=1°d

o Watch Video Solution

6. Following are the marks obtained ,out of

100, by two student Ravi and Hashina in 10


https://dl.doubtnut.com/l/_HkpORjVB4qHb
https://dl.doubtnut.com/l/_z6cF3vHEAHyT

tests

Ravi F?l {45 130 (70 |42 36 48 3k s0
Hashina | 10 | 70 [so 20 195 55 ‘42 leo 48 80

Who is more intellogent and who is more

consistent ?

° View Text Solution

7. Mean and standard deviation of 100
observations were found to be 40 and 10
respecitly .If at the time of calculation two

observations were wrongly taken as 30 ans 70


https://dl.doubtnut.com/l/_z6cF3vHEAHyT
https://dl.doubtnut.com/l/_EJ72ySBRb5Fn

in place of 3 and 27 respectively , then find the

correct standard deviation.

o Watch Video Solution

8. While calculating the mean and variance of
10 redings,a student wrongly used the reading
52 for the correct reading 25.He obtained the
mean and variance as 45 and 16 respectively

Find the correct mean and the variance.

° Watch Video Solution



https://dl.doubtnut.com/l/_EJ72ySBRb5Fn
https://dl.doubtnut.com/l/_nxQECy1Z8u2d

Objective Type Question

1. The mean deviation of the data

3,10,10,4,7,10,5 from the mean is

A2

B. 2.57

C.3

D.3.75

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XePUOXvt9ce1

2. Mean deviation for

n

observation

x1, Lo, . ... .x, fromtheir mean z is given by

7=1
i 9
i=1
]_ n
D.— X (z; — z)°
ni:l(wz )
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XePUOXvt9ce1
https://dl.doubtnut.com/l/_amgOB9k4uh5d

3. when tested the lives (in hours) of 5 bulbs

were noted as follows 1357,1090,1666,1494,1623

The mean deviations (in hours ) from their

mean is

A. 178

B.179

C. 220

D. 356

Answer: A

l ° Watch Video Solution


https://dl.doubtnut.com/l/_KuYIoCoo0HAa

4. Following are the marks obtained by 9
student in a mathematics test
50,69,20,33,53,39,40,65,59,
The mean deviation from the median is

A.9

B.10.5

C.12.67

D. 14.76


https://dl.doubtnut.com/l/_KuYIoCoo0HAa
https://dl.doubtnut.com/l/_E4rbiynFBI2V

Answer: C

° Watch Video Solution

5. The standard deviation of data 6,5,9,13,12,8

and 10 is

A 52
VT

B.52/7
C. /6

D.6


https://dl.doubtnut.com/l/_E4rbiynFBI2V
https://dl.doubtnut.com/l/_HbV51pQ79Ur3

Answer: A

° Watch Video Solution

6.If £, x9........ 2, be n observation and
be their arithmetic mean .Then formula of the

standard deviation is given by

AX(x; — w")z)

E(wi — 25)2



https://dl.doubtnut.com/l/_HbV51pQ79Ur3
https://dl.doubtnut.com/l/_lJOjiqU6LRNh

Answer: C

o Watch Video Solution

7. If the mean of 100 observations is 50 and

their standard deviations is 5,than the sum of

all squares of all the observations is

A. 50000

B. 250000


https://dl.doubtnut.com/l/_lJOjiqU6LRNh
https://dl.doubtnut.com/l/_Z6hvvb2i8Dq9

C. 252500

D. 255000

Answer: C

° Watch Video Solution

8. Let a, b, ¢, d, e, be the observations with
mean m and standard deviation s. The

standard deviation of the observations a+k,

b+k, c+k, d+k, e+kis (a) s (b) ks () s + k (d) %


https://dl.doubtnut.com/l/_Z6hvvb2i8Dq9
https://dl.doubtnut.com/l/_U5LMnQGhawR8

B. ks

C.s+k

x| w

Answer: A

o Watch Video Solution

9. If, s is the standard deviation of the

observationsxq, 9, 3, x4 and x5 then the


https://dl.doubtnut.com/l/_U5LMnQGhawR8
https://dl.doubtnut.com/l/_5jWLgCRjgs2s

standard deviation of the

kxq, kxo, kxs, kxy, and kxs is

Answer: C

observations

o Watch Video Solution



https://dl.doubtnut.com/l/_5jWLgCRjgs2s

10. Let 1z, 5....x,, be n obervations .Let
w; =lx; + k for +=1,2....n,wherel and
k are constants. If the mean of z; is 48 and
their standard deviation is 12 the mean of w; 's
is 55 and standard deviation of w; is 15 then

the value of | and k should be

A. 1=1.25k=-5
B. [=-1.25,k=5
C.1=2.5k=-5

D. [=2.5, k=5


https://dl.doubtnut.com/l/_uF3Me10jlhbA

Answer: A

° Watch Video Solution

11. The standard deviation for first 10 natural

number is

A.55

B.3.87

C.2.97

D. 2.87


https://dl.doubtnut.com/l/_uF3Me10jlhbA
https://dl.doubtnut.com/l/_rQB1vSK0WhT6

Answer: D

° Watch Video Solution

12. Cosider the number 1,2,3,4,5,6,7,8,9 and 10.If

1 is added to each number the variance of the

number so obtained is

A. 6.5

B. 2.87

C.3.87

D. 8.25


https://dl.doubtnut.com/l/_rQB1vSK0WhT6
https://dl.doubtnut.com/l/_6MfVMN6g970X

Answer: D

° Watch Video Solution

13. Consider the first 10 positve integers .If we
multiply each number by -1 and then add 1 to
each numberithe variance of the number so
obtained

A. 8.25

B.6.5

C.3.87


https://dl.doubtnut.com/l/_6MfVMN6g970X
https://dl.doubtnut.com/l/_Xfo5j9PG0XUv

D. 2.87

Answer: A

o Watch Video Solution

14. If for a sample of size 60, we have the
following information Z(wz)2 = 18000 and
in = 960, then the variance is

A. 6.63

B.16


https://dl.doubtnut.com/l/_Xfo5j9PG0XUv
https://dl.doubtnut.com/l/_4jguk4DTOH6U

C. 22

D. 44

Answer: D

° Watch Video Solution

15. If the coefficient of variation of two
distribution are 50 ,60 and their arithmetic
means are 30 and 25 respectively then the

difference of their standard deviation is


https://dl.doubtnut.com/l/_4jguk4DTOH6U
https://dl.doubtnut.com/l/_ONs7QxUi3EJf

A.O

B.1

C.15

D.25

Answer: A

o Watch Video Solution

16. The standard deviation of some
temperature data in .° C'is 5 .If the data were

converted into .° F' then variance would be


https://dl.doubtnut.com/l/_ONs7QxUi3EJf
https://dl.doubtnut.com/l/_BkDYrXS681dn

A. 81

B.57

C.36

D. 25

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BkDYrXS681dn

x 100

1. Coefficient of variaton =
Mean

A.SD

B. MD

C. MEDIAN

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_L43SSFBvnoLH

2. If zis at mean of n values of x, then
¥ (z; —x) =0 and if a has value other
than

z then X7 . (x; — Z)* isless than X(z; — a)’

° Watch Video Solution

3. If the variance of a data is 121 ,then the

standard deviation of the data is ......

A1l

B. 12


https://dl.doubtnut.com/l/_55h1cvL0GhYq
https://dl.doubtnut.com/l/_FCCSoAJxSCqk

C.10

D.9

Answer: A

° Watch Video Solution

4.The standard deviaton of a data is .... Of any

change in origin but is ....of change of scale.

° Watch Video Solution



https://dl.doubtnut.com/l/_FCCSoAJxSCqk
https://dl.doubtnut.com/l/_1g8Sk33hAzsd

5. The sum of squares of the deviation of the

values of the variable is when taken about

their arithmetic mean

° Watch Video Solution

6. The mean deviation of the data is ... When

measured from the meadian

o Watch Video Solution



https://dl.doubtnut.com/l/_MZkCWvnTtXOg
https://dl.doubtnut.com/l/_STc0NVaJQNBc

7. The standard deviation is ... To the mean

deviation taken from the arithmetic mean

° Watch Video Solution



https://dl.doubtnut.com/l/_WrGILTWsM41b

